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CPD (Hindi)

To fulfill the educational needs of children with disabilities,
which Act was enacted in 1992

1. National Trust Act

2 Rehabilitation Council of India Act
3. Child Rights Act

4 Children with Special Needs Act

Rrepetion a=al @t e fadwarsi @t gfd & fow 1992

H gerren orn siftfere ug 3.

1. I = sitdferaA

2. R Yeata sifafera

3. are 3R sttt

4 faolw smaespar e o= sifafe=a
Expand APPEP

1. Andhra Pradesh Primary Education Project

2 Andhra Pradesh Panchayath Education Project
3. Andhra Pradesh Population Education Project
4 Andhra Pradesh Primary Empowerment Project

APPEP &7 fa=aR &4

1. 3eeseer wltde e ufsisren

2. 3MTeeseel SEmd e ufsieten

3. 3TegsReel S frem ulR=sten

4 3TeeIsIe 2T TTRIf3 e TRrpIar uf¥ieter



National Child Labour Project (NCLP) Schools Started in
India in this year

AL a1t 9/ ufRIeTet ¥pad (NCLP) HRd H 3
ATA A Y g3

1. 1975
2. 1985
3. 1995
4, 2005

One of the objectives of Pre-Primary education is
“to develop good body, muscle motor skills in
children” — Suggested by

1. Kothari Commission

2 Macaulay Commission

3. Janardhan Reddy Commission
4

Sri Krishna Commission

‘T # 3B RR, ATFURREN B AleT Biere B
Rreplra @ 371 st gd e forem & 3gaeat A

gogldl U HTell
1. Plor 3m=ion
APBTer 3MRNOT

2.
3. Sfenefer 3z 3mor
4. SiipwT MR



A person with normal vision can see with his both eyes with
180° area is called

1. Visual Function
2 Visual Efficiency
3. Visual Acuity

4 Visual Field

AT gRe aren cafer e el 3itEl & 180° g A
3T B ... Baa S

1 3T AARIG

2. 3o garal

3 gite 3t Tusear
4. T A

Which one related to cerebral palsy in the following

1. Monoplegia

2. Dyspraxia

3. Snellen

4 Philadelphia

oI A JA3TA Ut &b Haterd g2
1. Feniatern

2 feonteRT=n

3. Tiood

4 perefcwen



Autism is derived from a Greek word “Autos”

means
1. She

2 He

3. Self

4 Goddess

“siffesrar’’ M o 3T A @er 2l 3iTaA F ...

1.  ag (S feior)

2. ag (dfen)

3.

4. <dt

As per Persons with Disabilities Act-1995, or more

hearing loss can be defined as “Hearing Impairment”

Taerion @faa sfafera Act-1995 & AR “sravT anfera
feser 31

1.  30dBHL
2. 40 dBHL
3. 50dBHL
4. 60 dBHL



10.

Those who are not able to do their own works, those need
attention and monitoring by others are called Mental
Retardation (Intellectual Disabilities) — According to this

1.

2.
3.
4

NPE - 1986
Chandrika - 2002
Premi - 1988
Benda — 1954

S SI9T Tl T/ A 31U BIH B A 377 gid &
3R 573 FRI @t IBIRJ 3R ITATA B MALTHAT Fleit
3, 358 AP BT Hgd gl T§ HAA ... BT gl

B

NPE - 1986
Tteeht - 2002

o - 1988
asT - 1954

Those who are having Intelligent Quotient between 50 — 70
are called

1.

2.
3.
4

Profound Intellectual Disability
Severe Intellectual Disability
Moderate Intellectual Disability
Mild Intellectual Disability

forers gfeg dfes 50 - 70 & o9 glaT 3, d ... Bgerd 3!

1.

2.
3.
4

gl difeges 31313l
SR difege 312m@aT
FeIH difegep 3121
fore=1 difegs 3reraan



11.

12.

An individual with two or more disabilities are called

b=

Orthopedically Impairment
Multiple Disability
Cerebral Palsy

Learning Disability

&l a1 &t A 31f¥ep for:oreraar &afea ... ogr oran B

B

AMRIRP 3181
UpBIierh 31T dT
FARals vemara
MR B 3MTAAT

At mandal level these centers are being maintained for
children with special needs in Andhra Pradesh state.

1.

2.
3.
4

Kisan Centers
Mandal Resource Centers
Bhavitha Centers

Raithu Bharosa Centers

3Meerseel A Iy 3MaeThdr aiet a=l & folv dAeal T3

A mAfora seg 3 B

1. fpAmE deg

2. Hsd dARH Hg
3. Hfdar bg

4 fparer AT g



13.

Identify the correct matching in the following

1. Script for the blind a. Kothari Commission
ii. 1964 — 66 b. Audio metry

iii. Kindergarten Education System c. Braille

iv. Hearing loss assessment d. Frobel

l. i-b,ii—a,iii—d,iv-c

2 i-c,ii—a,iii—d,iv-b
3. i-d,ii—c,iii—b,iv-a
4

i-c,ii—a,ii—b,iv—d

ot 3 7 e vgaR

i 3ien @t ford a. PISIR 3TT=NT
ii. 1964 - 66 b. 3MEA FHiez
iii. gTeTarst {2121 yomett c. gselt

iv. S0 ST BT 3Mhetel d. B

1. i-bjii—aiii—d,iv-c

2. i-c,ii-aiii—d,iv-b

3. i-djii—c,ili—b,iv-a

4.  i-c,ii—a,iii—b,iv—d



The Rights of Persons With Disabilities Act bill passed in this
year

Rrepetion i & sifeR Mo g1 adf & wiRa

This method is used to overcome behaviour Problems in
children

1. Evaluation
2 Evolution

3. Shaping

4. Itinerant Teaching

gedl A FAgR Adeh AT B T B & fov Tg
NPT 3TN ST 3.

1. i
2. AP A
3. SO

4. HHOT 3181

Teaching to children by following the sequence is acceptable

1. Reading — Writing — Listening - Speaking

2. Listening — Speaking — Reading - Writing
3. Speaking — Listening — Writing - Reading
4. Writing — Reading — Speaking — Listening
Il B A HHA A Yol Hehd ol



17.

18.

19.

Expand U.E.E

U.E.E &I AR &u

1 Universalization of Elementary Education
2 University Economic Evaluation

3. Universalization of Economic Education
4

Up grading of Elementary Education

What is the percentage of distributing Jagananna Vidya
Kanuka (JVK) Kit to the enrolled children with special needs
in regular Schools from class I to X.

13 10 a ferafa Ipell # ardiiepa gy smaeddsar
arel Bl # fhaet afdera aiol ®I St faen Hige!

(JVK) Tere fe=n siren anfge|
1. 10%
2 100 %
3. 50%
4. 20%

Which of the following commission stated that “Provide
opportunities for integrated development of children” is one of
the goals of pre-primary education.

1. Miss Grace
2 Kothari
3. Macauley
4 Galton

‘Tl B TG (AR F 31aR TSI Heel gI'gd
UTIfHB TR &b 2111 cize H Felhl U HATTdTeTT ... gl
1. I

2.  leRY
3.  Hop
A o

DI



20.

21.

Operation Black Board Scheme was implemented from
1. 30" September, 1986

2. 30" September, 1996

3. 5™ September, 1986

4 5™ September, 1996

3MTURLTE STl als Aletell A fael A 3MRa §3|
. 30 f&daR 1986
2. 30 f&daR 1996

3. 5 Radar 1986

4. 5 Radar 1996

Teaching strategy in Montessori method is
1. School centric

2 Black board centric

3. Teacher centric

4 Child centric

FAree=AR Tafer & freror fafér o= g1ar 8.
1. Tpcl dlegd

2. 9UTHUE dbfegd

3. 31%ATUP Pbiegd

4. BT dbiegd



22.

23.

IQ of the Severe Intellectual Disability is
1. Below 20

2. Above 40

3. Between 20 - 35

4 Between 110 — 120

sk difessd srereAar 3 g erett..
1. 20 A BHA

2. 40 3 3iferp

3. 20 -35% =

4 110 - 120 & <=

The experts will suggest the following appliances to the person
with weak muscles in both legs and hands of locomotor
disability

1. Tri cycle

2. Rollator

3. Wheel chair
4 Abacus

PSR UT 37T grer AR orfaefietar & AF=n3i
aret Afeh i [aRus & gRT Jfad Iudv 45 3l

1. et ufgen arelt Arsiea

2. AdeR

3. &Ad W

4.  3Q®A



24.

25.

This category of children very often to write 21 instead of 12.
1. Intellectual Disability

2 Visual Impairment

3. Hearing Impairment
4

Learning Disability

A AN P I 3R 12 B o1 21 fo=ma B

1.  difege 31emFan
2. 3iered

3. dgIue

4. AT B FAFTR=A

These children laugh unnecessarily
1. Orthopedically impairment

2 Hearing impairment
3. Autism
4

Visual Impairment

3 = e Aded & §99 B
1.  9MRIRep 31e1aAdT

2. dgIuel

3 3{itestA

4

3fered



26.

27.

The instrument used for hearing loss problems
1. Teaching Aid

2 Hearing Aid

3. Tape recorder
4

Spectacles

JeTarg AATA3N Bt §e1 B BITC STAATA fpanm STt
dIeTT 3UhT UG 3.
1. fareror 3usseor

2. PeAdATS IUBRT
3. 2u Raree
4,  UP

AYJNISHD, Mumbai is working for the persons with
1. Hearing Impairment

2 Visual Impairment

3. Intellectual Disability

4 Learning Disability

AYINISHD HFg g1 ol bIeTu B dHeaareit
Ter... Bl



28.

29.

A person is not having proper vision even after treatment to
the eye are called ‘Visual Impairment’. According to

1.

2.
3.
4

Anne Corn - 1989
WHO - 1997
Berth Lot - 1989
Herbart — 1997

U Afth 3UaR & aig 3ft stua giie ura w=a & 3rgaet
3 dl 3Td! ‘TReqIw’®gT o Ahar 31 Ig pA®dT Bere 3?2

1.

2.
3.
4

31 B - 1989
WHO - 1997
ad dic - 1989
gae, - 1997

Providing education to the selective children with profound
intellectual disability under Samagra Shiksha is called

1.

2.
3.
4

Formal Education
Special Education
Remedial Education

Home based Education

FF fR1en & sreold Tufea sk FRie U A Faghg
g bl 37 2121 & g1 PRen uee & St Bl

1.

2.
3.
4

3ftuaRes farem
frory farem
SUTARTHS f1ei
g 3nenfya farem



30.

The first Phase of APPEP is
APPEP &I Ugcil d301

1
2.
3.
4

1989 - 95
1984 - 87
1889 - 95
1884 — 87



31.

32.

APTET — Paper- 1B — 2022
Hindi (Language)
Lol Uehe 33l bl fabedl A uganferu|

31eft I B, 3190t <@ P Faoret B,
33N, 31l JOT gIER UTA HAST B

SHIR UTA =T FST 372

1 E510))

2 ot

3. JAAT

4 JAFT

UeIi9l Ush? 331 Bl f[adhcar &

ugdere| 313ft FHT g, 310t g o
foorer 3, 31, 313l FAOT gIgR U=

13T 3l



33.

34.

JMETT U 3R &l fapedl A uganferul

HRART el B IROT S g HRA Bt &I T AF]L
Silael Td 3MeTicaids daelTl "R Bell # 3ad 3R i
B AT HIGET I T A JJRA gid gl HRAT el
Aerhl 3R REBRI Bt T8 Bt upta o FHig o= 3

HRAIT BTl ATeIh! a2 RISBRI Bl i AT dcd

g Totam an?

1 JIH Sghd

2. 3nefeHs Ag
3. HPid

4, AFAT

JMETTT U TR &l fapedl A uganferul

HRART el B IR0 Jid g HRA Bt &I T AI]
Silael Td 3neTicads ddelll HRAT el H 3ad 3R Jfeg
P AT HIGEAT I FHT A FJRA gid gl HRAT Hell
Aerpl 3R REBRI Bl AFT B THid o HAig foram Bl

HRART Bl A BB AHATT HIgeT &2
1. 3T 3R gfs
2. ATgen 3R ghs
3. Hpid 3R =k
4 ygta 3R ==



35.

36.

37.

38.

39.

40.

‘7 3 emer’ BRI F B BT B2

1. gRdR™ a==

2.  3THAAT APR

3. PiRepar #gR

4.  gegraeleriel gat

‘Terrem grT IRa afera shal &1 JHug Hia-A1 82
1. ofaer

2. ONdrget

3. ofage

4. 3ifora

FRI A Pl fhael AT TR g2
1 2

2 4

3 3

4 6

g, T, AN ........ eqferam 3l
1 aof

2 gof

3 3cd: T

4 HBIRR

foreet A ‘311’ ol BT dcdd SU UgAleiC|

1. 3

2. 3@

3. 31T

4. 318

ot A arg ast aifa A et 31 I/ifpa o= HI
T ugEev|

1.  3fferae

2. W=

3. 3R

4. HpIA



41.

42.

43.

44,

45.

3ToIeT BTG ... 3MTATST Pead gl AsHR 3T 3R
IS RN (T PRSP Faeet ugatew)

1. @I
2. @l
3. &
4 G

feeht AR 291 P Ioereh 31 (FFifpa 2reg B o
SU UgdIfelv)

JoTaTads faetwor
A=A fomor

1.
2.
3.  gRHAEEs b
4.  JdentHes feiwor
R & R Uz Fomam ganm wrf welt gof =gt glan
AT AATAT SAlpifth UG
YYDl AR, gl Bl BRI
a1 Aa Joht Ja

1
2.
3. A Bl 3 A ferrenm
4. Bral Y 1 e

‘A IR’ HgIaR B 3 ugaferwl

.  guse Igel
2. HPIE Teen
3. oISl ATHS & 3Tl
4.  TqIBT TGl

Sl THRUT e AP g, 31 <] b U Uh 2l i

ugdIteru|

1. e
2. WRU™
3. R
4. Rige=



46.

47.

48.

49.

50.

g1 Hs3di, 31 faiwoi, 3 fFaii & o agd & gId

P THI 37 foR1A Rager &1 w=ior Ba B
1.  3(cuRRIA

2. ormafues

3. 3gd fr&A

4. &g ke

HRa sfdsmare &1 291 gl
ufaaTare &1 290 HRA 3l
29T BT HIRA AfaHTETE T 3l
A’ 291 Hfdararen o1 3l

G AT TgATeTC |

1.

2.
3.
4

ST GRY Bl IR T5S ZO|
ST GRY & IR ¢5d G|
MG GRY A IR 5P go|
MG 3R H IR 5P gU|



51.

52.

53.

54.

55.

e Bt ete A o & AT § -
1. @

2.  d=

3. 8

4. @R

“Hdfedd AN H JdAHA 21 g Hicar g1 Ig fo=mr=
fepaepT B2

1. Fee, 37eles
2.  @Ieet

3. gsad

4. urdr. e

fpeht wiea Bt Bt Bea F U gea A St 3E FPA
AT, dB ... A Bt feroo=h gt B

Bq Uod AR 3Tardl fa=T1d Bl =1 Bgd 32

1. ofa

2. gb

3.  ofa

4. IMOT

U I Uh &l dR =0T gidTl g 3R 3Ab Th A
31féres 31ef ga E1 I o s 31¢iaR &1 3.

1. 9ow

2.  dehitth
3. IJHD
4 SUAT



56.

57.

58.

59.

60.

3G 37R Sl eAlpondg il AT 32
1.  3nfeard

2. feREn
3.  UgmEt
4.,  QRGHATAT

AYH I JG A AT DIV A A 3791 TR Al &



61.

62.

63.

APTET - Paper- IB — 2022
English

The number of books in the library risen to
over five million.

Choose the correct verb that fits the blank.
1 are

2 have

3. has

4 will

Let’s have a party,

Choose the correct question tag.

1. don’t we?
2. will we?
3. shall we?
4. do we?

Choose the correct statement regarding changing a sentence
from direct speech to indirect speech.

1. The actual words of the speaker are written
in capital letters.

2. Universal truths are always in future tense.
‘To infinitives’ should be changed into past tense.

4. We remove inverted commas while writing
indirect speech.



64.

65.

66.

67.

Yesterday the District Educational Officer visited our school.

At that time we in the ground.

Fill in the blank with the correct tense form.

1
2.
3.
4

play
are playing
were playing

have played

Choose the adverb from the following.

1.

2
3.
4

friendly
silly
ugly
well

Let’s have a party some time the next week.

Choose the option that can improve the underlined part.

1
2
3.
4

Today the temperature can fall below 60 degrees Fahrenheit

some time at next week
some time in the next week
sometimes next week

in the some time next week

at the South Pole.

In the above sentence ‘can’ is used:

1
2.
3.
4

to describe the South Pole
to describe the weather
to express possibility

to express permission



UAE stands United Arab Emirates.
Choose the word that fits the blank.

1 to

2 for

3. on

4 since

Raju was a doctor and Gopi, a lawyer.

The number of main clauses in this sentence are

1 one

2. two

3. three

4 four

You have three, and I have two; , we have five
altogether.

Choose the linker that fits the blank.

1 therefore

2 for instance
3. incidentally
4 by the way

The book was very interesting.
Choose the relative clause that fits the blank.
1 which was given by Raju
2 who was given by Raju
3. which gives

4 by the way



72.

73.

74.

75.

Choose the sentence in passive voice.

1
2.
3.
4

He was arrested.

The police arrested him.
Open the door.

Let him go.

An unexpected natural or man-made event

causing great damage is

1
2.
3.
4

a bravery
a disaster
an occasion

an incident

Choose the antonym of the word underlined.

Every part of the Earth is sacred to my people.

One feels tempted to look into a mirror when it is near.

1
2.
3.
4

holy
blessed
inviolable

profane

The meaning of the phrasal verb “look into” is

1
2.
3.
4

to wake up
to remove
to observe keenly

to take rest



76.

77.

78.

79.

When I needed money the most, you sent me this gift.

Choose the correct article to complete the sentence above.

1
2.
3.
4

an
the
a

No article is required

My father is a teacher.

Choose the correct question to get the above sentence

as the answer.

1
2.
3.
4

Is your father a teacher?
How is your father?
What is your father?
Who is your father?

Choose the punctuation mark used at the end of an
interrogative sentence.

1
2.
3.
4

Choose the correct subscription while writing a letter

A question mark
A comma

A full stop

An exclamation mark

to your father.

1
2.
3.
4

your lovingly,
Loving your,
Your’s lovingly,

Yours lovingly,



80.

8l1.

82.

3.

Choose the correct sequence of the words in which they
occur in the dictionary.

1) blue ii) bold iii) blow iv) blog
1. i, iii, v 1
2. v, iii, 1, ii
3. iii, 1v, 1i, 1
4. 1, iii, 1v, i

Choose the word with wrong spelling.

1 enormous
2 suficient

3. barrage
4

forecast

Choose the suffix that means ‘position held’.

1 ness
2 ment
3. ity

4 ship

Read the following passage.

The headmaster said, ‘Swaminathan, keep standing on this
desk, till I announce your dismissal’. Swaminathan was
standing on the desk. Suddenly he got a flood of courage;
jumped down; rushed out muttering, ‘I don’t care for your
dirty school.’

The incident took place
1 in a market

2 in the playground
3. in the classroom
4

in the prayer ground



&4.

85.

86.

87.

Read the following passage.

The headmaster said, ‘Swaminathan, keep standing on this

desk, till I announce your dismissal’. Swaminathan was
standing on the desk. Suddenly he got a flood of courage;
jumped down; rushed out muttering, ‘I don’t care for your
dirty school.’

Choose the TRUE statement from the following.

1
2.
3.
4

Swaminathan made the headmaster stand on the desk.
Swaminathan left the school.
Swaminathan was swept away in a flood.

The headmaster was dismissed from the school.

The following is accepted as an Associate Official

Language in India.
1 Tamil

2. Urdu

3. English

4 Telugu

Rich communicational environment is

1
2.
3.
4

the best prerequisite for language learning.
recommended by William Bentick.
introduced in America in 2020.

not needed to acquire the skill of speaking.

The most important tool for communication is

1
2.
3.
4

pictures
speech
sign
colours



88.  The sentence that captures the reader’s attention is called.

1 the contextual sentence

2 the atmospheric sentence
3. the break sentence
4

the hook sentence

89. The approach, that is an extension of the national
functional syllabus, is

1 linguistic approach

2 grammatical approach

3. communicative approach
4

suggestopedia

90. The following is not considered an authentic
material to teach English.

1 recipes

2 application forms
3. brochures

4 flash cards



91.

92.

93.

The difference between the smallest 6—digit number and

APTET - Paper- IB — 2022
Mathematics (Hindi)

greatest 5—digit number is

AdA BIEl AT 6 3R ATA IS JHAT 5% I

1 99
2. 1

3. 1000
4 1111

Number of prime numbers below 10

10 3 = fhaelt 31aeg AT ...

1
2.
3.
4

4

5
6
3

G.C.D.of 144 and 192 is
144 3T 192'% G.C.D.

P W b=

36
48
24
18



94.

95.

96.

A square and a parallelogram have the same area. If a side of
the square is 40 m. and the height of the parallelogram is 20 m.
then the base of parallelogram

1. 60 m.
2. 80 m.
3. 70 m.
4 40 m.

UH P 3R U TAGR agefsT BT Sohel AATE 31 afx
qof P TH Yo 40 . Th ARG dgefst B Ha1s 20
ez 3, A AR agefst ot feaen offH 32

1 60
2 80
3. 70
4 40 =

6.30 PM in 24-hours format is
24 € & UTHT H AMH 6.30 IS ... gidT 3l

1 11.30
2 18.30
3. 06.30
4 24.30

Number of right angles that are equal to a straight angle

TP AHABIUT fhaal ciapIvn &l FFT A RER 3l

—_ N B W

1.
2.
3.
4.



Which least number should be subtracted from 15, 28, 20 and
38, so that the numbers are in proportional

15, 28, 203ﬁ?38ﬁﬁaﬁazﬂaﬁzﬁ2ﬂaﬁmmé

1. 2
2. 5
3. 4
4. 10

The value of 2° + 3% is

2°+3" B A B
1 1
2. 2
3. 3
4 5

Total surface area of cube in square units is



100. Ravi purchased a TV for Rs. 15,000/- and sold it by loss off
Rs. 1286/- then selling price is

1. Rs. 17860
2 Rs. 16286
3. Rs. 13714
4 Rs. 13741

a5, B 5.15,000/-F TRNEHR 5.1286/-d el

R A & suw! Rispa e Rede 37
1. 5. 17860
2. 5. 16286
3. 5. 13714
4, 5. 13741

101. If a train covers 75k.m in 1 hour with equal speed. Then it
covers 250k.m within minutes

TP ICPMS! UHh 8 H 75 fb.a0. @ Jae offd A aF
HIl gl g 250 Th. M. P ag wA A ... faferel o1
JAAY M|

1. 250
2. 200
3. 20
4. 60

102. The value of pin4p + 7 =23
4p+7=23gl al TAHA p B JcT

B2 OW N =
N B~ N W



103.

104.

145

“The sum of the factors of a number is equal to the double the
number” then the number is called

1.

2
3.
4

Prime Number
Composite Number
Perfect Number

Co-primes

‘TRt T & IUThI (S[OTETHST) BT JAMoT FIEN HSAT B
IRTER a1 8’| a9 I ST .... Pl gl

Ao

31T T
Hﬂaﬁ P2 2| |

guf Tz
URIMRG AT AT



105.

106.

Natural numbers over addition does not follow the following
property

1. Closure property

2 Associative property

3. Commutative property
4

Inverse property

=T TR UThd AU feret feaRe oot 1 3refa=or =g
Pl 3l

1. ga e

2. gk asH

3. fafeera @ oqor e
4. ool gH

Price of a pair of shoes is Rs. 550/- . If 10% discount on sale
price, then the selling price (in rupees)

UF TS Sfd B BAd B.550/-3ebt f[abt = 10%

® B & AT gt al 31 S[al b1 fasha JAed (Fu=h H)
1. 500
2. 495
3. 490
4. 480



107.

108.

In a triangle exterior angle is 125° and interior opposite angles
are in the ratio of 2:3 then one of that angle is

U Brafet # arEg divr 125°3 3R 31d: JHA BIvT 2:3
& 31UId A g, dl 39 A TS BIUT gl

1. 25°
2. 75°
3. 35°
4. 85°

A vessel in the shape of a cuboid is 30 cm. long and 25 cm.
wide, then the height of the vessel to hold 4.5 liters of water

1. 4 cm
2 6 cm
3. 8 cm
4 10 cm

UeATPBIR &b 3P BT Uh dde 30 A.FY. &1 ddar 3T 25
A ). BT GIs1 § Y 4.5 oilee Ul 3Ra Hhfelu adel @l

a1 fpder gen aifzul
1. 4A..

2. 6A..

3. 8|

4 10 A.37.



109.

110.

111.

% portion of a cloth is made up of cotton. The percentage of

cotton in the cloth is

Wmﬁgqﬁamﬁmmmm

STl g, dl 3A HUS A Jd BT TG ........... 3
1. 50%
2. 60%
3. 70%
4, 40%

Arithmetic mean of 14, 36, 25, 28, 35, 32, 56, 42, 50 and 62 is
14, 36, 25, 28, 35, 32, 56, 42, 50 31T 62 BT AHAZ HT Bl

1. 35
2. 38
3. 36
4. 40

A rectangular park is 65 m. long and 30m., breadth a path 2.5
m. wide is constructed outside the park then the area of the
path.

1. 500 m’
2 700 m*
3. 600 m’
4 900 m*

3TIATHT TS B ars 3R dIsE 65 1, 30 # . 37
TS & ARI 3R AEA aGB 2.5 Al AIST IFAT Felrn
IR aY 3H Ul BT 215hct

1. 500 9.3,
2. 700 9.3,
3. 600 7.3,
4 900 T.31.



112.

113.

114.

Sum of 5x 2 + 9x +6, 4x +3x>-8 and 5 — 6x is

5x% + 9x +6, 4x +3x°—8 3TT 5 — 6x BT AT

1. 8x%+ 7x + 3
2. 6 +6x+2
3. 4+ T7x+3
4. 3 +3x+1

The type of triangle in which the ortho center, centroid,
incenter and circum center lies on a point is

1. Scalene triangle

2 Equilateral triangle
3. Isosceles triangle

4 Right angle triangle

f1ageT @1 Jealer e, P, 3iaT g 3R uReg vH
g fig w31, At 37 Bryget ... wEa §?

1. Tawsrarg Brs
2. AHaTg By
3. JAtgarg Brye
4. JAABIOT Hraet

In a triangle ABC, AC = BC and the exterior angle of ‘C’ is
ZACD = 140° then the value of ZABC

TS f53sT ABC # AC=BC g 3T ‘C’ &1 a1gl BioT
ZACD = 140°g a@ ZABC &I Fga?

1. 70°
2. 40°
3. 60°
4. 140°



Maths Methodology

115. This is not an academic standard in mathematics
1. Problem Solving
Visualisation

Conceptual Understanding

Cal o

Connections

1. AR JAHTET

2. GBIl
3. IR JHS
4.,  HAddg

116. ‘Explanation of Binary Arithematic’ essay was written by
1 Leibnitz

2 Georgebule
3. Tolman
4

Pascal

‘TRATAYE 36 Jei3) 3rfAfes’ e forder &1 as®b

AW N =



117. Inductive method means

l. Concrete concepts to abstract concepts
2 Abstract concepts to concrete concepts
3. Doing experiments

4 Play based pedagogy

3MTHeTHSD fafdr &1 3mf ... Bl

1. 3md 3aemRonsit A Ad sr@eRon3it aw|
2. I 3r@grRomsl A 3 sr@eRon3i aw|
3. Ul el

4. Bt 3nenia Riamems

118. Major limitation of essay type test is
1. no creativity
2 encouraging rote learning
3. difficult to evaluate
4

Time consuming

FeraeneA® udien &t qZ AT I8 3
1. IS TTIHBT ool

2.  Tede WHE B NAgd BIel
3. il Hel Bioe gl

4. 3AA 3P AFAT oI B



119. Main character of a good Maths textbook is
1. scope for ample practice
2 meaningful illustrations
3. age appropriate content
4

SCopce for assessment

TS 378! JIIa Ul Jeads i T faeivar I3 gl
1. oI 31 &) Ifersenl
2. arefs R gen
3. 37Yg & AAE a6 gel
4. HcAThel Bl 3T
120. Weights comes under the category of
1. visual aids
2 audio aids
3. Audiovisual aids
4 digital aids

gotel Bl TR (dre) 3 Aot A 31T 3.
g9 3UHT

JTYPHT

3 37 eI IUBT

ddeiidl 3UBT

el
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EVS (Hindi)

121. The term ‘tadpole’ related to
1. Water cleaning process
Chemical pollution

Life cycle of a frog

o w

Organic manure

122. The following institution which is responsible for the safe
delivery under Mother — Child Welfare Scheme

1. Mandal Parishad Office
2 Mandal Revenue Office
3. Primary Health Centre
4

Mandal Resource Centre

A R St ATGATA HeAT0T AloTell & dgd FAeTd ofeH &

foro freer B

1. Fsd uRuc BRI
2.  #HSd oA BRI
3. gRIfHe TRIAT be
4.  Fsa e F=Tee e



123. The result of excessive usage of household appliances

1. Increase in consumption of electricity

2. All domestic works are shared by all family members
3. Increase in household works for children

4. Depending on others for domestic works

T3¢] IUBRON &b 3TATEd IUANIT & YRUNA

1.  fcrel ot T9a A ghg

2. R & BIHA Uh A HAADBT Bl

3. dl & "¢ BIAl A gheg

4. W P BT R W Feralk gam

124. Example for Fibrous roots system

l. Jowar

2. Neem

3. Banyan

4. Rose

e &I HoTel & fIT 3erEIr
1. SR

2. &&A

3. [SEDI[4

4 IfcTld



125.

126.

The time taken by “Long — Term Crops” for harvesting

1.

B w

ard
1.
2.
3.
4.

90 days and above

180 days and above
120 days and above
100 days and above

PifcTh BAC! Bl Bels A e dTe] AHI

90 fe=r 3R 3A 31ferp

180 fe=1 31R 3 31ferep
120 fe=1 3f® 3 31ferp
100 fe=1 31= 3 31ferep

One of the following is considered as artificial wool or

fake fur

1. Polystyrene

2. Acrylic

3. Rayan

4 Poly propylene

Toreat failera & 3 v &1 FHA Ha a1 Sdbell BT Hal

SiTar gl

1. ufeeRa

2.  TUlpla®d

3. e

4.  Ulelvurscile



127. The chemical used to absorb CO, in Mohl’s leaf experiment is

FHicd & 3RfUsl =T A CO, @A B BieTw ...
B g0 o

1. Ca(OH),
2. KCl

3. KOH

4 CaO

128. Ursa Major is a

l. Satellite
2 Constellation
3. Meteoroid
4 Asteroid
3H Aol® ... Bl
1. 3Wg
2. dREHSA
3. 3cpius (geErdg)
4. Bl drI
129. The ploid of chromosomes in sperm cell
1. Haploid
2 Diploid
3. Triploid
4 Tetroploid
2IeRIY] HITRHIST H IURE &t Rerfa
1. 3uIvE
faagfora

2.
3. By
4. erentrter



130. Evergreen forests are located in these regions of India
1. Kerala - Andaman
2 Kerala - Karnataka
3. Assam - Nagaland
4 Assam - Arunachal Pradesh

TSGR TeT HRA &b A 3131 A Rera B

1. & - 3SHAE
2. I - Ppelled
3. 31AHA - GRS
4.  3MAH - 3HUMRC 290

131. The largest silk worm seed development institution in
Andhra Pradesh is located at

1. Dornakal

2. Seethampet
3. Horsley hills
4. Araku

Ig 3TeRLT B AT TSt JAHABIC dieT bRy Fen ...
#H 3

1 SIvfcpet
2. HlgHAde
3. grda fgow
4.  3IRD



132. The plant and animal species which are found exclusively in a
particular area or country

1. Endangered species
2 Alien species

3. Vulnerable species
4

Endemic species

NY-31R g genfeRn o & @ 3o & =it fadw =0 &
CIERS I

. g« U SottierR

2. el nHew womferRn

3. HHSIR ForteE

4.  erfers geita=l
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Social Studies

133. The earliest World Maps were made by
1. Sumerians
2 Europeans
3. Babylonians
4

Persians

TR ugal faea FAERe pAd gRT a«e 9w a?
JAR forart

R
defieiferars
AT

b N

134. Identify the correct chronological order of Mughal emperors
1. Babur, Humayun, Jahangir, Akbar
2 Babur, Humayun, Akbar, Jahangir
3. Humayun, Babur, Akbar, Jahangir
4 Akbar, Humayun, Babur, Jahangir

YU IIGLAGI & AT ITRMABR H AGE B
g .

1.  9R, gAY, SighiR, 3R

2. TR, AT, 3GR, SiEl

3. gHANIS, dIdR, 3idaR, Glaﬁﬁ!“"




135. Find the wrong statement about Nomadic life

1. The hunter — gatherers lived in small groups

2. They moved from place to place for searching food

3. Women and children also participated in hunting and
gathering

4. They did not share the food with all the members

FATATIEIQT Siiael el & TR A IcAd Blel Pl UgAeIv|

1. 3feH JIHg A W[d Al

2. d HISE ol BT Uh AT A AR AT W
EIGEO]

3. HAfgAT 3R o= oft PR, dug & Hor aa B
HAAG & A TN B AT HioTel AT gl B g

136. The height of all places on a contour line is
1. below the sea level
2 above the sea level
3. gentle slope
4

Same height from the sea level

U Bicg 33 R Asht FmEll P Harg ... g B

1. A% ad A =i 3l

2. A% dd A BUR gl

3. gatﬁrgzmaamzﬁajél

4. G ad A AAT Hars W 3



137. The Gandhara School of Art developed in this region

1. Amaravathi
2 Saranath

3. Sanchi

4 Takshasila

MR Ffefpe ... A fashra gaml

1 3TN
2 AR
3 P21

4 aaifaren

138. The book written by Megasthenes
1. Arthasasthra
2 Indica
3. India
4 Malavikagni Mithra

FIREST gRT feiRAd g & & ....... 3l

1. 3refoms

2.  gfser

3. ARG

4.  HATATIPIATHH



139. “Khudkasht” means
1 Lands cultivated by farmers
2 Lands cultivated by Laboures
3. Lands cultivated by Kings
4

Lands cultivated by Zamindars

Fewrd (gaat) srefa

1. Tpaml gRI 3 & 9% fd
2.  HASIGY &b gRI B B 1 afH
3. Ironsil gRT B Bt org afA
4.  IIGRI gRT St B IR fer

140. The Right to Information Act (RTI) was passed by the
parliament in this year

e PR sifdferza (RTI) FA8 gRT ... # uiid
Tema o= e

l. 2003
2. 2004
3. 2005
4. 2006



141.

142.

The book “Ramacharithamanas”™ written in Awadhi Language
by

1. Tulasi Das

2 Shankar Devudu

3. Chaitanya Mahaprabhu
4

Kancharla Gopanna

AR HASTA Bl 3@ HIOT H ... o e ?
1 gerdierA

2 oiceea

3. UqeaHgyy

4 et INTeet

The Nation where the Jews were persecuted by Hitler

1. Germany

2. Israel

3. Saudi Arabia
4 France

Th QAT 291 151 gt Y fgeer & wramn anl

E

AT 3Rg
BIA



143. The method of constructing tunnel roofs and dome roofs

1. Arcuate

2 Trabeate
3. Taapibond
4 Indian Art

AR HI Bl 3 SR Bal & ferator i fafd

1. 3R
2. e

3. fals

4 WA Bl

144. “Raghupathi Venkaiah Award” is given to those who have
worked in this field

1. Medical sector

2 Science and Technology sector
3. Film Industry
4

Education sector

TUfadsaT QRBR T &5l # B Beal dleil Bt

&= smar 31

1. fafpear =

2. fasme 3iR v e
3.  fpea 3emor

4 farem &=



145.

146.

According to the Bloom’s Taxonomy of educational objectives
“Analysis” is related to this domain

1 Cognitive domain
2 Affective domain
3. Psycho Motor domain
4

Moral domain

[ & 21 el & IFAR, Ag faecivvr fhA & &
3?

1. e &1 &

2. HIIGeITcHB a5
3. ATSHl HAleT A
4,  dAfae e

This type of evaluation is useful for making appropriate
decision during teaching — learning process for course
development and student improvement

1. Formative Evaluation
2 Summative Evaluation
3. Diagnostic Evaluation
4 Slip Test

A UBR B el UeHha [dHrA 3R B [
BT U 3 o A Rigror-Aise o1 fdsan 3mr

1. Frefoneas seiwe
2. INIHSD FHATdwed
3. e Forema e
4. udl geror



147.

148.

To draw the particular thing from a generalized common thing

is
1. Inductive method

2. Deductive method

3. Historical method

4. Scientific method

fopelt ATy avg 3 Ty =g & ferapree ... 3l
1.  3PTHATHSD fafer

2. fTenHeas fata

3. ofdgii¥e fafy

4.  deiteres fatdr

“Curriculum is the wholesome activities of students under the
supervision of teacher” is defined by

1. Spears
2. Cunningham
3. Albert
4. Cro and Cro

““Uch 3121p Bl 3J 3| A BN gRT B STdret

afafafraT & ureeet 31 @5 ... BT BT gl
1 TR

2 GACIoE:|

3 3fcac

4. @B g B



149.

150.

“Project is a daily life experience which brings into the school
environment” is defined by

1. Kilpatrick

2 Bellard

3. J. A. Stevenson
4 John Dewey

RIS U afelss Siiael &I 3 5, ol Ipd &

qIATERYT & R ST &1 g B ........ BT Bl

1. fratfcs

2. Qerd

3. SLU. Eidedd

4. St sa

The sixth aspect in Edgar Dale’s cone of experience is
1. Dramatization

2 Direct Experiences

3. Performances / Tours

4 Model lessons

USIRSd & 31E3d & 37JAR AP BT BoI-UGT, -..... 3l
1.  clich SUidR

2. YTl 3TgHd

3. vgefd / ueied

4.  HAisc UIGIHA



